spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

0.5

Mean Spectrum

Fe2 4% 040 km/s
BLR 3000 NLR 900 km/s

S, e ity ST

et 11 ks ‘....MMWIIWM M lu il |
bbb

8000

5000 6000

» @)

RMS Spectrum

BLR 3000 NLR 900 km/s
Py - W

TR TR T T e TSRy
'

hm I

11 I 1 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIImIIIIIIIIIIIIIIIII ]

4000 5000 6000 8000
A (B)

x(A\t) = ( Data — Model AC5 ) / o X
/(413550-5088)=0.772=>1.007

e

e

80

T S B LR
LA ARG AR L A
L e R R

TR R e R

i B AL m\“h‘l“ Wl i

TR T A S T
W“““wl‘!,“ AR A

il e T AR
i e iy

A il rat e “‘ml;l"":11\“'1w\‘\“‘\‘”‘1‘"

g A R B R
VU R et ol e ANl SRt e P T M W A S i LR L Pt
e i b i A e
A A L A e R S
o \“J““I“\!‘\“‘\‘} e e 1 AT A R ““:“f““““‘ Rt Rt I sy
< Fen A, e TR T T STV AT e A R
T i R TR
e T AR

il il \H“‘\ WL A
i i AR | !
i ) A
gt I
A O A R
A R

i
R

g i
T sy

20

bl |
U

‘w \‘\‘\‘:\Hl“ et ! i fin
iR

5000

il i DL

4 = 0.014(18) x = 0.856(74) => 0.856(74)
med(mad)

1.5

Netie g o 2 5, Wt

w e 'I"1"1I1n|'l’1"|"'ﬂ'll

bl et ¥

I BT | Qe T e T S ey A g 1 P T

A AR by £ him bl b A A i e

4000 5000 6000

A (B)

8000

10080

A Iy :“‘iih‘w-‘\'-“‘\"‘”\“"“?}w

raw

RMSx

| model

-2

0.5

f) (10717 erg em™2s7'87")

-0.5

40

BLR
20

1.3

1.2

0.9

Continuum Lightcurve
med(mad)%
T T

Ac(6093R) 16% S/N 60 -

Ac %

8000
MJD — 2450000

BLR Lightcurve

" " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " 1
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
rm969
T T T T T 1 T T T T 1
L " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " I-
7000 7500 8000 8500 9000
MJD — 2450000
% = 0.0138(70) x = 0.852(19) => 0.852(19)
rm969 med(mad) AC,
T T T T T 1 T T T T 1
: 4X
— = — = =% 4

. . A -
7500 8000
MJD — 2450000



